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267 Kaiua nuieHHas MosioyHas ")KVI,ElKaf!‘ 200 5,83 7,09 26,85 212,70 s ]
90 X1e0 niueHUUHbIN ¢ ChIPOM 60 3,80 0,40 24,60 117.50 |
501 KodelHblii HAMMTOK ¢ MOJIOKOM 200 3,20 2,70 15,90 79,00 ]
60 Canar u3 CBeKJbl ¢ s10JOKaMH 60 0,72 3,24 6,78 59,40 ]
L HToro 3aBTpaK: 520 13,57 13,43 74,13 468,6 J
3aBTpak 2
112 DpykT 516510K0 , | 200 0,40 0,40 9,80 47,00 /A -0
Wrtoro 3aBTpaK 2: f 200 0,4 0,4 9,8 47 7 9? - )|
O6en
4 Canar u3 6eJoKOYaHHOM KaryCcTbl ¢ MOPKOBBIO 60 0,96 6,06 5,76 81,6 ~éj'
142 [1l1 13 CBEKEH KaryCThl C KkapTodesem 200 1,40 3,98 6,22 66,40 3 -0
389 Tedresnn U3 rOBAIMHBI MAPOBHIC 80 11,04 10,16 6,96 163,20 A6 - @O
7291 MakapoHHbIE U3/EIHs OTBAPHBIC 150 5,60 0,67 29,00 144,90 /[D ~QC0
308 KOMIIOT M3 CMECH CYXO(PYKTOB 200 0,50 0,00 27,00 110,00 5—400
| 109 X11e6 prKaHoit 40 2,64 0,48 13,30 69,60 A-0O
}_7100 Xs1e6 miueHuHHbIH B 50 3,80 0,45 24,85 110,00 A -eoC
] Wtoro obex: 780 25,94 21,8 113,09 745,7 70635
IoaaHuk 7
193 ait ¢ caxapom 200 0.0 _|__ 0,00 15,00 s0.00 | 4-20 ]
577 KOHBEPTHK C TBOPOTOM 100 16,80 19,00 26,20 343,50 /0-00)
HTOro noJuHuK: 300 16,9 19 41,2 403,5 Jy-00 ]
- YKUH
346 | KotrieTa pbiHbie 80 9,76 2,88 4,96 84,80 A/~ 0O
429 KapTodesbHoe 11ope 150 3,15 6,60 16,35 138,00 76 -0
494 Uait ¢ TUMOHOM 200 0,10 0,00 15,20 61,00 A-QO0
109 Xneb prkaHoit 40 2,64 0,48 13,30 69,60 A= 0O |
108 X11e6 mueHnHbli 50 3,80 0,45 24,85 110,00 A-CO |
HTtoro y:KuH: 520 19,45 10,41 74,66 463,4 Z/é -0
VoKkuH 2
516 Kedup 200 5,80 5,00 8, OO 100,00 /
HToro yauH 2: 200 5,8 5 100 ‘N
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